LV.F-125
LV.F-125-AS

ELESA J& 4% it
WH %% K CE R B4

- WA e B R B EPA) BRSO EADR R, WER, b,
fE A Bt A

- AERES, EXWE,

- WA T RIEN,

- LVIFRL R A R A e ACE R B

- LV.F-ASHL . NBRRET0 B 8 AR AKCF I B0, S,
FHRMEETRERERRT RREFE, WLEXBE A wE, &F
FESSEARTHERLT, REQDHIAL,

- T 2180% Yy e %K AL

- HHNREF (BRI, 2LE5127),

X
2
¥ |
&
5
»
»
»
I
F

.

| —
-
E_o
-
-
E
E
-
-
E
E
E
-
-
-
-
o
-
-
o
-
—
-
-
-
.
-
-
-
il
T_—
-
-
-
-
-
-
-
E_2
E__3
——

ALARAARA R AR A AARA R RARR R R R LR

TR AT WA B AT, SHE12T KA,

KFREEHRCRENEN TERPFRAFE, ILREEITR
PSRBT, KPR, TR EXIE, REFEmE R,

KFREGTOEBBMVYRE, ERATHRENAFRAER, £
RueFEFHenRerE, #AESFE, WEEARPENRT
i,

/]

I1
3
46

I I 7=~ / R
12.5
95
D
AHh Ak CoeE ER+ g | Ew | B5F | GHPC | =R

a5 B 3 K45 B S D L Lig I d | @ s [N] g g#
313521 | LVF-125-24-M16x58 | 316221| LVF-125-24-AS-M16x58 125 128 M16 58 396 521
313525 | LV.F-125-24-M16x98 | 316225| LV/F-125-24-AS-M16x98 165 168 M16 98 447 572
313541 | LVF-125-24-M16x138 | 316241| LVF-125-24-AS-M16x138 | 125 205 208 67 | m16 138 24 24 28000 497 622
313561 | LV.F-125-24-M16x158 | 316261| LV.F-125-24-AS-M16x158 225 228 M16 158 524 649
313625 | LV.F-125-24-M20x98 | 316325| LV/F-125-24-AS-M20x98 165 168 M20 98 517 642
313641 | LVF-125-24-M20x138 | 316341| LVF-125-24-AS-M20x138 205 208 M20 138 596 721
313661 | LVF-125-24-M20x158 | 316361| LVF-125-24-AS-M20x158 | 125 225 228 67 | M20 158 24 24 28000 635 760
313681 | LV.F-125-24-M20x198 | 316381| LV.F-125-24-AS-M20x198 265 268 M20 198 718 843
313725 | LVF-125-24-M24x98 | 316425| LV/F-125-24-AS-M24x98 165 168 M24 98 615 740
313761| LVF-125-24-M24x158 | 316461| LVF-125-24-AS-M24x158 | 125 225 228 67 | M24 158 24 24 28000 787 912
313781| LVF-125-24-M24x198 | 316481| LV.F-125-24-AS-M24x198 265 268 M24 198 905 1030
*URABRARN ZREZREARAT, ENEREELERTE, TR AERNTR,

# O T B B BGE

@ [elemnu'l‘in' “ELESA" and "GANTERGRIFF” models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.




